EcEl it BT ER

VALVES & CONTROLS .
Electrical Actuator

------ «Tacwell FEEITTEE
@ FEAMEIE/MER. KHIGE. BBk (@ € Compact structure, large torque, easy operation

WIPER, BREARLLAEZEH T and convenient maintenance ensure of stable
EIEfT. function under different working conditions.
OB, EEBSHNIZH THSEERSE, @Motor, gearing and control elements in separate

BAF, FaTE, EFHEP, rooms for less space and easier maintenance
& SMERTIBRIRITENRGEEHEH,  withoutinterference.
Al B#iENL, @ Multi-class gears and worm gearing bring preclse
@ EhE—IRML G B FiRE. transmission and self-lock positioning.
@ iH, FHEMBIRAIELZEIRIPIIAE ®Intellectualized integrative structure for easier
TR F AT B R EIEAT, operation.
O EEHEEERETFH OEMMTENTH @ Multiple protection including over heating, over
B — &% =& B 2 RIE, torgue and over limit position ensure electric
QBEFE, ZLMMHESEE, 1S05211% actuators of safe running.
EEERI @ Careful choice of raw materials and a series of

strict tests for each element guarantee our ex-

------ - W IT4F 14 DESIGN FEATURES cellent performance.
OE=EZ | 'ght € Complete models with various accessries and
& {&F3/v  Com pact
®HEKX Powerull

connection according to ISO5211.

>> 07 <<



lacuwell

VALVES & CONTROLS

FRERSIELE

Standard electrical connection drawing

T Grey |

| ——o0 e

‘ LS (6)+——o0 2xEs

: Brown Full-close signal
=3

| U2 o B LG osnms

: White Full-open signal

1 B (4)+—o0 com

: Blace

i oLs? @ & FF Open

‘ @ C RQed K—0—OL

| I Clse o a @ ? % Close

: Blue

} o= 1) ON

-------- Bk

3 £ :90° &K100°)

TAERE : 50%

RAHE 1 50-2000Nm (L451ERR)

T{ERE : 230V AC (=10% )50,60H zE44H

4 % 1 100M 500Vdc

fit & :1500Vac/4yh

H JE : 24Vdc-115Vac-380Vac

DURHITIR TR T L

HHFE PR F 28

frERALIT : 135/500/1K ohm s

FRIZEI%EE © R/N4-20m A D C Gexx)

IREEIEHIEE © 30-240s Gxx*)

== (B Nk 28

I w1k
215 /MODEL TE50 TE100
1% /Torque(Nm) 50 100
FERTE /90° Action time 20 30
JHFEHTT /Consumption 24Vdc 1.28 2.03
JHFEEE /Consumption 115Vac 0.24 0.57
JHFERIE /Consumption 220Vac 0.16 0.35
JHFERT /Consumption 380Vac 0.07 0.1
FE8 /Weight(kg) 2.7 3.6

HHBHEER - ER

TERE  -23°CE60°CIRMEATFOCIUT,
BE BTSSRI R)

BEiPZEg - P67 GFESNEM A4.4X)

TegEE D FO3-F14 (50 521147:4)

LT B R RP

PRI X HEITIEAE O

LAY PRGLFF %

AL EE TR

AFFRENT S EFM

BETHEL IR T /& FARYE E L

=KERE [ 73dB

I (ITERRS R )

ot TE BB T

TE200
200
30
3.57
0.65
0.37
0.15
8.5

>> 08 <<

ACTUATOR ON-OFF ROTARY TYPE

ACTUATOR FEATURES

Actuator ON-OFF; working angle 90°(100°Max.).
Service 50%

Maximum torque from 50 to 2000 Nm.(see the table)
Supply voltage 230Vac(+10%)50/60 Hz 1Ph

Insulation resistance 100M/500 Vdc

Tension insulation 1500 Vac/1 minute

Motor with Class E insulation

Working tempeature from -23°C to +60°C(for use in
temperatures below 0°C,we suggest anti-condensate
elements)

Protection according to NEMA 4,4X rules(IP67)
Coupling flange for the valve from FO3 to F14:I1SO 5211.
Auto-reset thermosatatic protection in the motor.
Open/close limit switch with cams adjustable along
the whole stroke.

Auxiliary limit switches with cames adjustable along
the whole stroke.

Safety adjustable mechanical limit switchse.
Graduated visual position indicator

Detachable lever for manual operation

Electric connectons with screw terminals

Locking of supply cables by means of cable pressse.
Maximum working noise: 73dB.

OPTIONAL(must be requested when placing the order)
Feeding voltage: 24Vdc-115Vac-380Vac
Local/remote control switches

Torque limiters.

Positional potentiometer: 135/500/1K ohms.

Positonal converter: R/L 4-20mA DC(**).

Speed control unit: 30-240s(***)

Space heater.

Driv socket.
TE400 TE600 TE1000 TE1600 TE2000

400 600 1000 1600 2000
30 45 30 48 60

5.13 6.04 / / /

1.12 1.18 1.93 1.75 1.75

0.57 0.6 0.94 0.96 0.98

0.29 0.29 0.44 0.46 0.48
9 9.5 18 20 20.5



lacwel

VALVES & CONTROLS

o TE/TIMMBRR R R TR

TE/TM MATERIAL TABLE AND DIMENSION TABLE

AMLE
(r - i\\ )
O &) o
%
58 %L+ e
K\e\ |
O \ )
o S—=°
O—— 1 w
K
T
oF
S
1 {84 /Body $548 /Aluminium
2 FEN1E513E /Manual gear box cap $4%8 /Aluminium
3 L E¥8~8E /Postiton ndicator 518 /G bss
4 S /Electric-set cap $548 /Aluminium
5 #E& &% /Terminal-box cap $558 / Aluminium
6 HAEEE Sk /Cable press T#2%# /Nylon 66
7 FiHiE#E /Lever connection W /Steel
8 HiEk /Female shaft W /Steel
9 Z&{E1E /Security stops TEEHW /Stainless steel
10 FHRIEEIRIP /Protections for lever connection THEH#RRL /NBR
11 EHIF/ /Lever TN /Stainless steel
= JMEZ R <F & Dimension Table
FF X BU(TE) TE50 TE100 TE200 TE400 TE600 TE1000 TE1600 TE2000
BATE(TM) TM50 TM100 TM200 TM400 TM600 TM1000 TM1600 | TM2000
A (mm) 160 196 255) 310
B (mm) 113 121 158 217
S (mm) 125 158 196 196 196 212 212 232
D (mm) 77 08 134 162
E (mm) 49 50 63 87
OF 11 14 17 22 22 27 36 36
K (E#&)  (mm) 22 32 48 48 48 50 50 70
L (75 (mm) 19 19 25 25 25 30 30 48
ISO-5211 FO3-FO5-FO7 FO5-FO7 FO7-F10 F10-F12 F14/F16
PP (mm) 70 70 102 125 165
PQ (mm) 50/36 50 70 102 140
R x prof.depth (mm) M6/M5*10 M6*10 M8*12 M10*20 M14%20
S x prof.depth (mm) 4*M8*12 4*M8*12 M10*16 M12*20 M16*20
T (mm) 80 98 ;35 140 140 200
U (mm) 72 86 106 160 160 200
\% (mm) 24 24 24 24 24 24 24 24
Peso Weight  (kg) 2.2 3.2 8.5 9.0 9.5 18.0 185 19.0

>> 10 <<





